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A few days before independence, the
Maharaja of Manipur, , signed the
Instrument 'of Accession-with the Indian
government on the assurance that the
internal autonomy of Mampur would be
maintained.

(1) Nara Singh

(2) Gambhir Singh

(3) Bodhachandra Singh

(4) Surachandra Singh

___is famous. for its black - red
prints in which flowers, leaves,
animals and birds are made in red

~ and black on the base in matia

(earthen) colour.
(1) Sanganeri (2) Kaithoon
(3) Bagru (4) Akola

‘Which .of the following dance

performed by men and women is a
famous dance of Garasiya trlbe of the
Sirohi region?

(1) Terah Taali Dance

(2) AgniDance

(3) Walar Dance

(4) Bum Dance

. " The works which throw light on the
- achievements and ‘incidents of a

particular individual and dynasty are
called . . '
(1) Vigat (2) Prakas

(8) Veli (4) Saakhi E

Which of the following became the first
All India Struggle Movement against
British government in 1919 ?

(1) + Dandi March

" (@ Rowlatt Satyagraha

(8) Non-Cooperation Movement

(4) Khilafat Agitation

What is the main function of a
capacitor in an electronie circuit?

(1)  To store electric charge
(2) To amplify current

(8) o convert AC to DC
(4) To regulate voltage
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Which of the following elements is
used as a semiconductor in electronic
devices ?

(1) Gold (2) Silver

(3) Platinum (4) Silicon

Which of the following is the primary

function of a modem in a

telecommunication system ?

(1) To convert digital signals to

- analog signals for transmission

over telephone lines

(2) Toconvert analog signals to digital
signals for transmission over the
internet

(8) To amplify signals for longer
distance transmission

(4) To filter out noise
interference from the signal

Which of the following is the effect of

the presence of suspended particulate

matter on the Air Quality Index (AQI)

and human health ?

(1) Increases AQI and has no
significant health impact

(2) Decreases AQI and has no
significant health 1mpact

(3) Increases AQI and can cause
respiratory problems

(4) Decreases AQI and can cause
respiratory problems

Which of the following is a type of non-
volatile memory that is commonly used
for storing firmware and operating
?ystems-in computer systems ?

1
(2% ROM
(3) Virtual memory
(4) Cache memory

Which of the following is a type of orbit
used by communication satellites that

allows them to.remain in a fixed position
relative to the Earth's surface ?

(1) Low Earth Orbit

(2) Geostationary Orbit

(3) Polar Orbit

(4) Sun Synchronous Orbit
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Which of the following software tools
is commonly used for version control
in software development ?

(1) AutoCAD

(2) -Adobe Photoshop

(3) Ruby ,

(4) Git

What is the total length of
Indira  Gandhi Canal Project
approximately ? -

(1) 150km @) 350km

(3) 650km (9 850km

Which of the following five year plans,
had objective defined as “Growth with
Stability” ? : '

(1) Fourth Five-year plan

(2) = Tenth Five-year plan

(3) Twelith Five-yearplan -

(4) TFourteenth Five-year plan
According to recent report, Rajasthan
holds what rank in production of Pearl-
millet cropinIndia ?
(1) PFirst (2) Second

3) Third (4) Seventh a

How many priorities were adopted in the §
Union Budget for F.Y. 2023-24 to guidé.—" |
the country towards ‘Amrit Kaal’ 1
(1) Five Priorities |
(2) Six Priorities , }f
(3) Seven Priorities |
(4) Eight Priorities

Which economic reform in India has

introduced a new credit arantee
scheme for Micro Sma and Medium
Enterprises beneﬁttmg
many states inc dmg tajasthan ?
1 AN Scheme
2 .PLI Scheme
3) 'BECLG Scheme

ABR Yojana

Which of the following is designated as
town of export excellence for Handicrafts

in Rajasthan ?
(1) Pali (2) Bikaner
(3) dJaipur (4) Udaipur

The first factory to manufacture white
cement in Raﬂasthan started in 1984

was estabhs ed in which of the
followm place ?
1 i (Aj mer)
2 Beawar é&Jmer) il
3) . Ringus ( alpurg
4) Gotan (Nagaur, . -
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Which of the following rivers in
Rajasthan is not a. tributary of
Chambal river ?

(1) KaliSindh (2) Banas

(3) Parbati (40 Luni

Which of the following is situated in
Kota, is famous for Tiger reserve ?

(1) Nahargarh Biological Park
(2) Machhiya Safari Park

(8) Keoladeo National Park
(4) Mukundara Reserve Park

Which of the following geological
events was one of the reasons for the
formation of the Grand Canyon in the
United States ?

(1) Volecanic eruption

(2) Glaciers

(3) Meteor strike

(4) River erosion

Which of the following PSUs, has
recently approached Rajasthan
Government to set up 1 GW Solar
plant in Rajasthan ?

(1) HPCL (2) ONGC

3) I10C (499 NTPC

Alluvial soil is found in which of the
following districts of Rajasthan ?

(1) Kota (2) Bundi

(3) Baran (4) Dausa
Which of the following is world’s
longest mountain range ?

(1) Rocky Mountains

(2) Andes

(3) The Himalayas

(4) Ural Mountdins

Which of the following districts, has
the highest (Million Tonnes) copper
deposits in Rajasthan ?

(1) Alwar (2) Chittorgarh -
3) Pali (4) Jhunjhunu
Under the Pradhan Mantri Awaas

Yojana — Urban (PMAY-U), what is the

tenure of the credit-linked subsidy
provided to eligible beneficiaries ?

(1) 10 Years or Tenure

(2) 15 Years or Tenure

(8) 20 Years or Tenure

(4) 25 Years or Tenure
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Which of the following is not~a focus
area-of the AMRUT scheme 7

(1) Water Supply

(2) Water Waste Management and

Sanitation
(3) :
B2

Green Space/Parks
(4) Affordable Housing
Which of the following cities have not
been selected for the implementation
of the HRIDAY scheme in 2015 ?
(1) Ajmer (2)
Chandigarh (4)

Badami
Dwarka

Under the National Urban Livelihood
Mission (NULM), what is the
maximum amount of loan that can be
availed by  an individual under the
Self-Employment Programme (SEP) ?

(1) ¥50,000 (2, T 1,00,000 p
3 2,00,000 (4) %5,00,000
Under Indira Gandhi Urban v

Employment Guarantee Scheme, how -
many , days of employment is
guaranteed in a year to the families

living in Urban areas of Rajasthan ?

(1) 6&0days (2), 125 days
(3) 150 days (4) Noneofthese '

"Which of the following scheme was ‘

launched in Rajasthan to provide upto |

T 50,000 interest. free loan, to stieet

vendors and unemployed youth of

urban areas?

(1) Indira Rasoi YOJana

(2) Indira Gandhi Credit Card Yojana

(3) Indira Gandhi Ro]gar Guarantee
~ Yojana

(4) Indira Gandhi Urban Livelihood

Mission

Indira Rasoi Yojana, aims to benefit
approximately how many people per

day ?
(1) 50,000 (2) 1.1Lakhs .
(3) 23Lakhs (4) 5 Lakhs
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- (1) Tejaji

Which of the following fairs is also
known as Kaila Devi Chaitra Mela,
recently celebrated in Karauli district
in March 2023 ?

(1) Karni Mata Mela,

(2) Lakkhi Mela

(3) Channi Cheri Mela

(4) Chandra.Bhaga Mela

In which district of Rajasthan,
‘Pipalkhunt High Level Canal’ will
provide irrigation facility ?

(1) Tonk (2) Barmer

(3) Pratapgarh (4) Bhilwara

Rajasthan's first Vande Bharat
Express was flagged off by Prime
Minister, that runs between which of

" the following stations?

(1) Udaipur - Ahmedabad
(2) Kota - Mumbai CSMT
(3) - daipur - Chandigarh
(4) Ajmer - Delhi Cantt

In which of the following countries,
was the “Buzi Bridge” made by India
and recently was inaugurated by
External affairs minister Dr. S.
Jdaishankar?

(1) Sudan (2)
(8) TUruguay (4)

1¢t International Quantum Communi-
cation Conclave was organized in
which country in March 20237

(1) India (2) China

(3) USA - (4) Switzerland

Mozambigque
Chile

Who built the Aanasagar Lake and
the Varaha Temple at Pushkar?

(1) Ajayraj™ (2) Arnoraj
(3) VigrahrajIV (4) PrithvirajIII

Kamadia Panth was founded by

(2) Pabuji
(3) Ramdeviji (4) Harbhuji

o
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Select the correct order of performing
engineering survey for roads, railways
and irrigation works.
(1) Preliminary Survey,
' Reconnaissance Survey,
Location Survey
(2) Preliminary Survey, Location
. Survey, Reconnaissance Survey
(8) Location Survey,
Reconnaissance Survey,
Preliminary Survey
(4) Reconnaissance Survey,
Preliminiary Survey, Location
Survey
Read the
carefully :
A. Length of Gunter’s Chain is 66 ft.
B. Gunter’s Chain is divided in 66 links,
C. Gunter’s Chain is also known -as
Surveyor’s Chain.
Which of the following statement/s
is/are correct ? o
(1) Only statement A is correct.
(2) Only statement B is correct.
(3) Statement A and C are correct.
(4) All statements are correct.

following statements

Which of the following triangulation
would have longest base line ?

(1) Firstorder (2) Secondorder
(3) Third order (4) Fourthorder

Select the .correct advantage of

tacheometric surveying. .

(1) Speed of surveying is low but
result is highly precise.

(2) Survey can be performed in poor

~ visibility.

(3) Chain can be used to measure the
distance between two points.

{4) Cost of surveying is less.
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is the horizontal,. distdhce:

between two points on any two

consecutive contours and is

the vertical distance between two

consecuitive contour lines. .

(1) Contour intervals, Contour slope. *

(2) Horizontal equivalent, Contour
intervals

(3) Contour gap, Contour slope

(4) Contour gap, Horizontal equivalent,

An area of a plan is to be determined

by using an Ambler polar planimeter.

What does ‘N’ mean in equation of
~area = M(F—-Ix10N+C ) of this

planimeter ?

(1) Number of sides of the traverse

(2) Number of cellular units of plan

(3) Number of complete revolutions

, ofthedisc
(4) Number of stations in the plan

Select the first step to be performed in

the procedure for setting the curve.

(1) Swing the arc of chord length C;
from point Aj (A: lies on the line
T1V, where V is the vertex of the
curve).

(2) Locate the tangents Point Ty and T2
and determine the length of first
and last sub-chords.

(3) Check whether the last point
coincides with tangent point Ts.

(4) The closihg error is distributed.

If the natural state of cohesionless soil
is in its densest state then the degree
of density becomes

" (1) =zero (2) . unity
(3) negative (49 not defined
An oven-dried soil having a mass of
200 g is placed in a pycnometer which
is completely filled with water. The
mass of empty pycnometer is 125 g.
The specific gravity of soil mass shall
be calculated as
1) 2.67 (2) 1.67
3) 2.65 @r 165

00

—w 2



bl1.-

b2.

b3.

00

50.

. Boussinesq 1

. Westergaard 1

. Westergaard 3 1

‘Which of the following option is correct'if |

the clay sample has activity 1.49?

(1) Ilite clay mineral

(2) Kaolinite clay mineral

(3) Montmorillonite clay mineral
(40 No comments

A horizontal stratified soil deposits
consists of three uniform layers of
thickness 4, 1 and 2 unité respectively.
The permeabﬂ1t1es of these three layers
are 2, 1 and 4 units. Which relation is

. correct for effective average permeability

of the soil deposits in horizontal and
vertical direction ?

D k< qu‘ @ k,=k,
@) k. k=1 @) k. >k,
Complex potential is defined as
D ¢+iy @ ¢-iy
By y+id @ wv-ip

Match list-I with list-Il and select the
corréect answer by the codes given below :
. List- T List - II

. Boussinesg . 1

influence
factor under
concentrated
load

.. p[l - @21372

3/2

influence 2. 3
factor under 1+ (ﬁ)
uniformly

distributed

circular load

influence- 3.
factor under
point load

influence 4, :

factor under 2p 1+ (3)2 .

uniformly

distributed

circular load u
1 a-3iLb->3c>4,d->2
2) a-»4,b—>2,c>1,d—>3
3 a—-»2,b->1,c-3d->4
4 a—>3bo4c>2d->1

void ratio curve for remoulded soil

sample represents
A

1
| - l

‘Void Ratio e

lcr{. ! Oin D
Log (effective vertical stress)

(1) Recompression

(2) Virgin compression curve

(3) Expansion

(4) Decompression

The radius of Mohr circle drawn for

unconfined compression test

_ saturated clay is equal to

(1) the apparent cohesion.

(2) the wunconfined compressive
strength. '

&) '\/ {% Gy~ 9}2 2

81 + 83
@ -

The ratio of horizontal to vertical
stress' for elastic equilibrium of soil
considering the angle of shearing
registance of 30° shall be

1) 1. (2 3. (3) 0.33.(4) 0.5.
The allowable bearing pressure on

spread footing constructed on sand
should be such that the differential
settlement does not exceed

M 250 @ 300 @ 500 @ 750

A homogeneous and isotropic material
has density 2.5 kN/m3. The modulus of
rigidity and bulk modulus for the
material is 100 MPa and 50 MPa
respectively. What is the modulus of

- elasticity for given material ?

(1) 1.8 N/mm?

(2 180 N/mm?

(3) 1800 N/mm?

(49 180000 N/mm?

‘ -

The segment BC shown in ‘pressure - 3‘

on

"
r¢‘

bk



59. An overhanging beam of totdl length I

60.

61.

62.

63,

m, having equal overhangs on both
sides carries: U.D.L. of w kN/m on the
entire span. A beam with given loading
condition has __ number of point/s of
contraflexure. )

Mmoo @3 @2z @t

A rectangular mild steel specimen of
width X cm’ and depth Y cm is loaded
with force P perpendicular to the
cross-section, at.centroids of specimen.
If both width and depth of original
specimen is doubled then, determine
the ratio’ of stress-in original specimen
to modified specimen wifh same
amount of force P.
1 1:2

3 8:1

(2) 4:1:
“2:1

A cantilever beam of effective span [,
carrying a triangular load of zero per
unit length at free support increasing
uniformly to w per unit length at fixed
gsupport. Read the below statements
carefully about the given beam :
A. SF. diagram has
inclined line.
B. B.M. diagram has a cubical curve.
(1) Both statements are correct.
(2) Only first statement is correct.
(3) Only second statement is'correct.
(4) Both statements are incorrect.

A determinate structure had total cost
about 2 lakhs rupees. If the same
structure would have made with
indeterminate structure, then what
amount .of total saving in cost may be
obtained with indeterminate structure ?
(1)" . Around 35000 to 45000 rupees.

(2) Around 10000 fo 16000 rupees.

(8 Around 20000 to 25000 rupees.

(4) Around 20000to 30000 rupees.

What is the ratio of maximum slope to

maximum deflection in a cantilever

beam of span [ m subjected to U.D.L.
of 1 kN/m on the entire span?

) 3iz(2)4il(3) Bil (4)421

" g

a straight .

10

‘64.

 65.

68,

1 67.

68.

A Propped cantilever heam i§ loaded

with umformly distributed’ load on

whole span, such that deflection at
prop end of the beam is Zero. The
reaction of the prop end of.the beam is
calculated by (Take usual notitions
for all quantities).

3wl Twl, . bwl b wl
W @GO @y

A two spans continuousbeam is simply
gupported by three supports A, B and
C from left to right end respectively
and subjected to U.D.L. of w kN/m
throughout the span. -Then negative
bending moment will be generated at

(1) support A. . . x
(2) support C.
(3) support B.

{(4) both supports A and C.

Three steel plates are held together by
14 mm diameter rivet. If the load
transmitted is 88 kN through this
arrangement, estimate the shearing,

stress inl the rivet.

4% 103 9% 103
o F- @ T

3 x 108 . 7%10%
® T @ 5

The displacement of joints is selected
as redundant in which ‘niethod of
structural analysis ? .

(1) Force method ~~

(2) Stiffness method

(3) Flexibility method

(4) Compatibility method

What is the maximum length of open
gantries beyond which expansion joint

shall be provided ?
(1) 120m {2 150m
(3 180m {4) 230m

00




69.

70.

71.

72.

73.

74.
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If M25 g;'ade concrete is used as a
bedding material for a steel column
then the maximum bearing pressure
shall be limited to

(1) 15MPa. 2)
(3) 21.75MPa. (4

What is the ratio of most unfavourable
slenderness of each member between
the intermediate weld connection of
two channel section connected back to
back if the most unfavourable ratio of
slenderness of the member as a.whole
1s907

(1) 40 (2)54 (8) 63 (4)4b

In which type of roof truss the
diagonals are in tension under gravity
loading ?

(1) Howe truss

13.5 MPa.
17.5 MPa.

(2) King post truss
(3) Pratt truss
(4) Warren truss

When transverse stiffeners are not
provided in plate girder and the web

of plate girder is connected to flange

‘along one longitudinal edge only then
the minimum thickness of web shall
be taken as

d d
D 200e, @ 3108e,
@) QOdsW ) 40(;15W

What is the minimum vertical
distance between the rows of bars if

the beam is constructed with 20 mm.

size aggregate and reinforced with 12
«mm diameter bars ?

(1) 12mm 2)
(3) 15 mm 4

If 300 mm X 600 mm rectangular
beam cast with M25 grade concrete
subjected to flexure, then the cracking
moment of the beam is

14 mm
20 mm

() 63kN.m. (2) 483kN.m.
(3) 315kN.m. (4 36kN.m.
4

l
I

11

76.

71.

8.

79.

80.

Y

What is the depth of rectangular
portion in stress block diagram of
concrete?

4 3
D 7% 7%
2 5
7% 7%
The nominal shear stress should not

exceed for solid slab
constructed with M40 grade concrete.

(1) 4N/mm? (2 3.1Nmm?
(3 2 N/mm? (4) 2.8 N/mm?
The maximum spacing of shear

reinforcement for 230 mm wide and
3560 mm deep (effective) beam shall

@)

3) @

not exceed when inclined
stirrups is provided at 45°.

(1) 350 mm (2) 225mm

(8) 230 mm (4) 300.mm

The strength of compression members
subjected to helical reinforcement. is

about percent more than the
strength of similar member with
lateral ties. §

(1) 1.056 @ 10

3 b 4 110

Which of the following criteria is
considered while proportioning the
size of footing ?

(1) i+%<ABP andz-%zo
(2) % %<ABP andA+%20
(3) % %>ABP and%‘%so
% %>ABP fmdA 1\Z,ISO
The thickness of base slab for a

cantilever retaining wall of 6 m overall
height may be considered as

(1) 300mm (2) 450 mm
3) 350 mm (4) 380 mm

jivs o




81.

82.

83.

84

85.

86.

{3)

The development length of each bar of
bundled bars shall be taken as

times more than that-of individual bar |

when four bars in contact.
(1) 110 2 1.20
1.30 (49 1.33

The nominal cover- to meet the

requirements of durability for M45

grade concrete under various exposure
condition is given below :

» Exposure Minimum nominal
cover (mmni)
1. Mild a 40
2. BSevere b. 45
3. Verysevere c¢. 50
d 20,
1) 1-»>a,2-5b,3>c
2 1-d,2->b3->c
B 1—-4d,2-5a8,3-c¢c
4 1-d,2->a,3->b

What is the value of coefficient of
discharge when the area of jet of

liquid at outlet is equal o the area of |

mouthpiece ?
(1) 0.530 2)
(3) 0.608 4)

The atmospheric i)ressure at sea level
at 156 °Cis

0.602
0.866

(1) 10.13 Nfem? (2) '14.17 N/cm?
(38) 19.75Nfem? (4) 22.83 N/em?
Euler’s number has the dimensions as
(1) ML-2T2 2) MLIT?

(3) MLT! (4) MOLOT®

A cipolletti weir is constructed for the
side slope of

(1) 1 horizontal to 4 vertical

(2, 1 horizontal to 2 vertical

(8) 2 horizontal to 1 vertical
1

(4) 1 horizontal to 29 vertical

12

87.

88.

T 89.

90.

91.

92,

G

Identify the incorrect statement in
terms of gradually varied flow.

(1) The energy correction fgctbr is
Zero.

(2) The flow is steady.
The roughness coefficient is
constant for the length of channel.

(4) The channelis prismatic.

Which of the following is not come under«

self-recording type rain gauge ? ?

n(l) Tipping bucket rain gauge

(2) Symon’s rain gauge

(8) Float type rain gauge

(4) Weighing type rain gauge

The reservoir for irrigation may be

planned with the value of design yield

of about times higher than
the firm yield.

1) 110 (2) 130

(3) 1.05 4 1.20

Kennedy gives silt theory for the
design of unlined alluvial channels by
considering B/D ratio ranging from

(1) 0.8t01.2 @, 15to3

3 85to1l2 4y 15to2.b

In Khosla’s theory, if no cutoff is
provided at the downstream end of the
floor then the exit gradient becomes

(1) infinite (2)
(8) unity @

is the rate.of flow of water
through a vertical strip of aquifer of

ZEero
negative

- unit width and extending for the full

saturated height under unit hydraulic
gradient.

(1) coefficient of transmissibility.. ;
(2) coefficient of permeability N
(8) coefficient of discharge '
(4) Storativity
00
3




93,

|

- 95.

96.

L4
Total quantity of 730 m litres water is

required. by a town per year having |

population of 10000. The per capita
demand. for the town will be of

(1) 0:73-m%day
(2) 200 m¥*day
(3) 0.2 m3day
(4) 0:2litres/day

Which of the following method is
suitable for forecasting the population
of those towns and cities whose
development is likely to place
accordmg to the natmnal growth of
country ?

(1) The Master Plan Method

(2) The Apportionment Method

(3) The Comparativer Graphical }
Method o .

(4) The Logistic Curve Method

Ultra-violet rays are highly

disinfectants and kill the disease

bacteria, in this disinfection method
water is allowed to pass in thickness

not exceeding before the
ultraviolet rays. )

(1) 8cm @) 15cm

@B 12cm (4) 10cm

The trickling filters are always provided

. between to remove organic solids
produced in filtration.-
(1) intermittent filters and contact
beds
(2) intermittent filters and final
settling tank
(8) primary sedimentation tank -and
final settling tank
.(4) screening = and primary
sedimentation tank

97.

00

Read the below given statements
carefully and identify the - correct
grit particles

statements:

A. Generally lie
between 0.1 to 1 mm in size.

B. Stokes law holds good for"settling
of particles of diameters less than
1 mm.

C. Usually the detentlon period of

grit chambers is 60 min. |
D. The loss of head in a grit chamber

varies from 0.06 to 0.6 m.
(1) AandD 2 BandC
(3) AandC (4) BandD

13

98.

99.

100

“101

102

103

.

The sludge index ‘is the ratio of the
volume of.activated sludge varies from
(1) 0to 100 (2) 150 to 300
(3) 350t0500 (4) 400 to 550

The gas vent area for Imhoff tank is
provided as

(1) 5 to'8% of the plan area.

(2) 30+to 35 % of the plan area.

(3) 10 to 15% of the plan area.
4 20 to 25 % of the plan area.
Identify the figure :
Venhlahng ~Wasla paper pipe
pipe Roal
W.E,
Tub E W.C. 2nd floor
KS. .
s ssag il w.is.
-...::_>.I"'_'|
1st floor
w.e
W.B. ] W.B.
=1 ==
Twb 3 P we. G, Floor >
\I Man-hale
(1) Single Stack System
(2) One-Pipe System
(8) Two-Pipe System
(4) Single Stack Partially Ventllated
System
How many litres of water is required

_in steel industry for the production of

1 tonne steel 7

(1) * 1,75,000

(2) 60 000

3) 4, 500

(4) None of these

The depth of tank for a high-rate
trickling filter may vary from

(1) 10tol8m. (2) 2.0to2.7m.
3y 3.0t03.9m. (4) 4.0t053m,

In ‘Geometrical desagn of highways,
mechanical widening and
psychological widening are provided

on
(1)

the vertical curves of highways.
'(2) the horizontal curves of
highways.
(3) the straight path of highways.
(4) the overtaking zones of highways.



104, Match the following list of tests of

105.

1086.

bituminous materials with its testing

.apparatus :
Bituminous - Testing
materials tests Apparatus
A.Ductilitytest P. Ring and Ball
test
B. Flash and Fire Q. Penetrometer
point test )
C. Softening test R. Standard briquett
- mould
D. Penetration S. Pensky-
test Martens closed
tester

() D>RC>5A-QBo>P
2 D-5QC-o>RA~SB->P
) D5>QC->P,A>RB->S
4 D>QC—o>RA>P,B>S

Select the correct sequence of
component parts of road structure

from top to bottom.

{1). wearing layer, subgrade,
foundation, subsoil

(2) wearing layer, foundation,
subsoil, subgrade

(8) wearing layer, foundation,
subgrade, subsoil

(4) subsoil, wearing layer,

"~ foundation, subgrade
Which of the following is- a

characteristic of rigid pavements ?
(1) In design of rigid pavements, the
strength of sub grade is most

important.

{2) Its failure is usually due to
movement of subgrade.”

{3) It produces heavy temperature
stresses.

(4) It cannot I:esist tensile stresses.

107.

- 108.

109.

110.

14

L

The minimum radii of curve
recommended for vehicle moving in a
hill road which is not snowbound at a
speed of 10 m/s is

(1) 41m. (2) 3.16m.
(3) 46 m. (4 35m.
The width of entry and the width of

non-weaving section for a 4-lane road
is 10 m and 7.5 m respectively. The
width of weaving section for rotary
carriage way should be provided as

(1) 8.75m. (2 12.25m.
3 17.5m. (4 16m. ﬁ
Choose the correct option in terms \oi"

vehicle registration with its colour of
letter and the background of number
plate.

i. Incaséof a. In black-on a
transport yellow
vehicle background

ii. Incaseof b. In black on a
temporary white
registrations background

iii. In case of . ¢. In white on a
taxies red

background

iv. Incase of d. In red on a
registration yellow
marks background
allotted to
dealers

(1) i—e¢ii—b,ili—a iva>d
@ i-dii-cii->givob
8 i-—bjiisdii—»>aivoe
4 i-biiociisaivad
The size of letter for advance direction
gigns on urban areas may range from
(1) 20-25cm. (2) 25-30cm.
B3 8-15cm. (4) 8-10cm.

00
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112,

113.

114.

5

115.
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Where the needle scaffolding will be
most suitable.to use ? _
(1) To do painting and repair work
' inside the rooms

(2) When ground is
support standards

\gVZhen it is required to keep the

strong to

®3)

ound near to the wall, free for

traffie

When construéﬁon work in the
basement of the building is to be
carried out

(4)

A dog legged stair is to be planned in a
stair hall of 2.5 m X b m size, having |

vertical distance between the, floors
3.6 m. The height of each flight is half of
vertical distance between the floors.
Find out number of risers and treads in
each flight. Take height of single riser be
15 cm and width of tread 25 cm.

D 11,12 @ 12,11

@ 12,13 4 12,12

Which of the fo]IoWing 18 a correct
general arbitrary volumetric proportion
for a high strength concrete ?

(1) 1:13:28 (2 1:1.2: 2.4
1:1.2:26 (4 1:1.1:28

What is the aggregate crushing value for
a sample having total dry weight of 2.1
kg and weight of material passing
through 2.36 mm LS. sieve is about 0.84
kg after the crushing of aggregates ?

(1) 40% (2 456%

3) 38% 4 42%
Arrange the constituents of a good

brick earth in descending order of
them contained in brick earth.

(1) Silica, Alumina, Lime
(2) Alumina, Lime, Silica
Lime, Silica, Alumina
"(4) Silica, Lime, Alumina

116.

The few chips or pieces of stones are
taken and they are placed in a glass
tube to find out the presence of soluble

. matter in a sample of stone. This is

the process of

(1) Water absorption test.
(2) Smith’s test.
(3)  Acid test.
(4) Attrition test.
The fire load of Domestic buildings

119,

120..

should not exceed by an average of

of the net floor area of any
compartment nor an average of
on limited isolated areas.

(1) 550000 k cal/m2, 11000000 k
cal/m?

(2) 275000 k cal/m2, 550000 k cal/m?2

(8) 1100000 k cal/m?, 2200000 k
cal/m? ‘

(4) 550000 k cal/m2 22000000 k
cal/m?

. For providing fire resistance to timber

by Sir Abel's process, the timber
gurface should be cleaned and coated
with a dilute solution of

(1) boric acid.:

(2) calcium silicate.

(3) sodium dichromate.
(4) sodium silicate.

Which of the following statement is
incorrect regarding to pit sand ?

(1) When it is rub between fingers,
* fine pit sand should not leave any
stain on the fingers.
(2) It consists of fine rounded grains.
() Itis excavated from a depth of
about 1 to 2 m from ground level.
(4) It is obtained by forming pjts
into soils.
: Which type of bricks are commonly

used at places where brickwork is to
I be provided with a coat of plaster ?

| (1) Second class bricks
(2) First class bricks
(38) Third class bricks
(4) Fourth class bricks
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